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A.

Consider the directed graph G = (V, E) with arch cost c in Figure A.1. Solve the shortest path
problem with starting node r = a using Ford’s algorithm and show the result in Table A.1 and
Figure A.2.
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Figure A.1: Digraph G = (V, E) and cost c
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Figure A.2: Final y and p.
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No: Name: 2

Table A.1: Ford’s Algorithm.

a g i f d j h e b

Start y 0 +∞ +∞ +∞ +∞ +∞ +∞ +∞ +∞

p 0 −1 −1 −1 −1 −1 −1 −1 −1

ag y 0 −1 +∞ +∞ +∞ +∞ +∞ +∞ +∞

p 0 a −1 −1 −1 −1 −1 −1 −1

ai y 0 −1 1 +∞ +∞ +∞ +∞ +∞ +∞

p 0 a a −1 −1 −1 −1 −1 −1

gd y 0 −1 1 +∞ −2 +∞ +∞ +∞ +∞

p 0 a a −1 g −1 −1 −1 −1

dh y 0 −1 1 +∞ −2 +∞ −1 +∞ +∞

p 0 a a −1 g −1 d −1 −1

de y 0 −1 1 +∞ −2 +∞ −1 −3 +∞

p 0 a a −1 g −1 d d −1

hf y 0 −1 1 −3 −2 +∞ −1 −3 +∞

p 0 a a h g −1 d d −1

hb y 0 −1 1 −3 −2 +∞ −1 −3 −3
p 0 a a h g −1 d d h

be y 0 −1 1 −3 −2 +∞ −1 −4 −3
p 0 a a h g −1 d b h

ej y 0 −1 1 −3 −2 −1 −1 −4 −3
p 0 a a h g e d b h

ji y 0 −1 0 −3 −2 −1 −1 −4 −3
p 0 a j h g e d b h
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